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Phys 131

Fall 2025
Fundamental Mechanics: Group Exercise 3
8 September 2025
Names:
A ski ramp is arranged as illustrated. A skier launches off A
the top of the ramp (up and right) with a speed of 19m/s.
Determine the horizontal distance at which the skier lands
from the bottom of the ramp. 2.5m
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136 Merry-go-round

A merry-go-round is a large flat disk that spins around a vertical axis through its center. A
child is at the edge of a merry-go-round with radius 3.0 m. The merry-go-round spins so that
the child’s acceleration is 1.5g. Determine the period and frequency of orbit for this to occur.
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